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TS-06 : TOURISM MARKETING 

Time : 3 hours 	 Maximum Marks : 100 

Note : Attempt any five questions in about 600 words 
each. All questions carry equal marks. 

1. What do you understand by marketing ? What is 
the difference between selling and marketing ? 	20 

2. What do you understand by forecasting ? 

Explain different methods used for tourism 

forecasting. 	 20 

3. Write short notes on any two of the following : 
2x10=20 

(a) Information 

(b) Communication 

(c) Reservations 

4. What do you understand by product levels ? 

What all would you consider while designing a 

tourism product ? 
	

20 
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5. What do you understand by Fam Tours ? What 

aspects would you emphasise while planning the 

itinerary for a fam tour ? 	 20 

6. Discuss the role of culture in tourism promotion. 

Support your answer with suitable examples. 	20 

7. What is alternative accommodation ? Discuss 

the various forms of alternative accommodation. 20 

8. Write short notes on any two of the following : 
2x10=20 

(a) Social Marketing 

(b) Eco-tourism 

(c) Cultural heritage tourism 

9. How would you design a travel agency product ? 

Discuss the role of technology in travel agency 

business. 

10. Discuss the role of National Tourist 

Organisation in marketing of tourism 

destinations. 

20 

20 
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